&:(200) M2 4=¢ 2:(210) Hel%gl s (212)A B2 42 [SANEANLELS ][ EE]
i = F I B ] w
O A+ oM A = J| =
PSEEIRC. S =1y = of & oA s A &
200
ANl 2l =& 11,955,000 8,885,400 3,069,600
210
AN 2 308,405 234,865 73,540
212
INE=J=el 91,369 55,439 35,930
212-08
JIEtAEE 91,369 55,439 35,930/ 2L X10X AIEZ 91,369,000& = 91,369
216
Ol Kb==¢ 217,036 179,426 37,610
216-01
220230 K= 217,036 179,426 37,610 W20 A== 217,036,000 = 217,036
220
A=A L= 11,646,595 8,650,535 2,996,060
222
=MHAHLNHZ2 6,223,000 3,384,000 2,839,000
222-01
=HAHLAHZ2 6,223,000 3,384,000 2,839,000 =AMAHLH=Z
- =X 5,888,000,000& = 5,888,000
- JIEt W EAY 335,000,000& = 335,000
224
2 2,016,100 1,357,900 658,200
224-03
JIEISIHA LS 2,016,100 1,357,900 658,200/ FAt&E 22| LB AHAEALZ2
12,661,000,000&x10% = 1,266,100
o JIEtWNSAtY LB AHEUZ 750,000,000& = 750,000




ZH:(200) Ml @l =€ 2+ (220) 2 Al F Al 2l 5= g:(22r)e2g23 [EARSEANAESF ][

(pal
FY

B - SINE I ]
o o & = | S
B 28 = o & %] B A
227
EE 1,654,100, 1,644,150 9,950
227-02
uvtec 1,654,100, 1,644,150 9,950 © ALK AHITS BYFIE ASUBE
190,000,0008 = 190,000
o NUCAR2TY BYFNE SASUB2
200,000,0008 = 200,000
o NUCARIPY SYFUNY AU
250,000,0008 = 250,000
o BYHBN-ABYFNE ASHBE
170,000,0008 = 170,000
o HNASHCABYFIE ASLUYYE
330,000,0008 = 330,000
o ECAR(SHIRS)LARAENE S
120,000,0008 = 120,000
o ZETOAZY LABYEINT S
2,100,0002 = 2,100
o NERYLYI 490,000,0002x80/100 = 392,000
228
&4l 829,600 676,560 153,040
228-04
BEHR LR T2 829,600 676,560 153,040 o WX HHI 80,000,000%/x92/100 = 73,600
o HAYBSIE B 60,000,0002/x60/100 = 36,000
o FHILAY DD




& (200) MRl =& 2 (220) LA E Ao & (228) & 4=¢ [SANSAISEELES ] [H2 ]
i = F I B ] w
O A+ oM A = J| =
PSEEIRC. S =1y = of & oA s A &
40,000® x5,0004x12&x30/100 = 720,000
229
XNtE = 4=2] 923,795 1,587,925 A664,130
229-01
N E 4=l 923,795 1,587,925 ANB64,130/c NHEE NERUFEHS 306,000,000&x3/100 = 9,180
o AT WA= 195,000,000&x30/100 = 58,500
o XHUT IEfES 8,561,150,000&x10/100 = 856,115
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